
Rekenvoordelen 4de leerjaar 
 

 

X 10 
 

1 nul erbij 6 x 10 = 60 

X 100 2 nullen erbij 15 x 100 = 1 500 

X 1000 3 nullen erbij 80 x 1000 = 80 000 

X 10 000 4 nullen erbij 7 x 10 000= 70 000 

 
 

:10 1 nul weg 60 : 10 = 6 

:100 2 nullen weg 1500 : 100 = 15 

:1000 3 nullen weg 80 000 : 1000 = 80 

: 10 000 4 nullen weg 70 000 : 10 000 = 7 

 
 
 
 
 

X 5  x 10   : 2 5 x 60 = (10 x 60) : 2 = 600 : 2 = 300 

X 50  x 100 : 2 50 x 40 = (100 x 40) : 2 = 4000 : 2 = 2000 

 
 

: 5 : 10 x 2 430 : 5 = (430 : 10 ) x 2 = 43 x 2 = 86 

: 50 : 100 x 2 4700 : 50 = (4700 : 100) x 2 = 47 x 2 = 94 

 


